5190E HRRBED A

BfER - 5F107F03828R —7EVE : 500P BEIIJERES
JE AL K 2 ouT IN GR HDCP | NET "&E B NE£L K % ouT IN GR HDCP | NET &% &
B |aTE E& 42 | 43 | 85 (13.2 |71.8 5000P-E 51 |t i 54 | 48 | 102 |26.4 |75.6 1500P
B INE BFE 44 | 41 | 85 (13.2 |71.8 4000P-E 52 |BEH %E— 41 | 42| 83| 7.2 175.8 1500P
3 |l E8h 47 | 49 | 96 (24.0 |72.0 3000P-E 53 |l TR 42 | 41| 83| 7.2175.8 1500P
4 | KK HF— 42 | 41 | 83 [10.8 |72.2 |=7E°V14H 2500P 54 B Hig 46 | 49 | 95 (19.2 |75.8 1500P
5 EXE BAA 45 | 38 | 83 |10.8 |72.2 |=TFtV5H 2500P 55 | KA 53% 47 | 54 | 101 [25.2 |75.8 B
6 BN =n& 45 | 44 | 89 (16.8 |72.2 2000P 56 |EXEE Af 59 | 48 | 107 |31.2 |75.8 |=7t’V14H-17H |2500P
1 |gTH &#& 51 | 44 | 95 (22.8 |72.2 E—IL 57 |B# Fx 38 | 44 | 82 6.0 |76.0 1500P
8 |ARHE EER 44 | 49 | 93 |20.4 |72.6 2000P 58 |¥¥ EA 51 | 43 | 94 |18.0 |76.0 1500P
9 |HZE B 48 | 44 | 92 (19.2 |72.8 2000P 59 |t FEX 44 | 43 | 87 [10.8 |76.2 1500P
10 WE B&— 411 38| 79 | 6.0 |73.0 [ANRMG 4000P- 60 |JE2W Y3 44 | 43 | 87 |10.8 |76.2 E—L
11 |l =30 41 | 43 | 84 |10.8 |73.2 1500P 61 |50 ZE— 47 | 45| 92 [15.6 |76.4 1500P
12 |gr5E = 53 | 49 | 102 |28.8 |73.2 1500P 62 |H)l =& 47 | 45| 92 [15.6 |76.4 1500P
13 |Fa% BB 46 | 49 | 95 |21.6 |73.4 1500P 63 |TEF&F WX 44 | 41| 85| 8.4 |76.6 1500P
14 |hE FHt 41 | 41| 82| 8.4 |73.6 1500P 64 | KLU BABA 45 | 40 | 85| 8.4 |76.6 1500P
15 @ FER 43 | 39 | 82| 8.4 |73.6 BBt 65 |8E A 48 | 49 | 97 [20.4 |76.6 BEE
16 |f&2f8 # 43 | 45 | 88 |14.4 |73.6 1500P 66 %= BA 44 | 46 | 90 [13.2 |76.8 1500P
17 |8t F&® 47 | 47 | 94 |20.4 |73.6 1500P 67 |BE X 51 | 45 | 96 [19.2 |76.8 1500P
18 &M 24k 47 | 47 | 94 |20.4 |73.6 1500P 68 |fZE {BED 53 | 43 | 96 [19.2 |76.8 1500P
19 |58 =4 43 | 44 | 87 [13.2 |73.8 1500P 69 |Frih Fx 54 | 60 | 114 |37.2 |76.8 1500P
20 |BiIE FIE 43 | 44 | 87 |13.2 |73.8 |=TFLV5H 500P-E 70 |HE IEBA 48 | 47 | 95 [18.0 |77.0 5000P- £
21 |[&H 7 46 | 41 | 87 [13.2 |73.8 1500P BB EE 52 | 49 | 101 |24.0 |77.0 4000P-E
22 NI FOFI 41 | 52 | 93 {19.2 |73.8 1500P 2 |\KEH #H 60 | 53 | 113 |36.0 |77.0 3000P-
23 | K# E— 47 | 46 | 93 [19.2 |73.8 1500P 13 |XE BE 41 | 41| 82| 4.8 |71.2 1500P
24 158 == 49 | 50 | 99 [25.2 |73.8 1500P 14 kB A 46 | 42 | 88 |10.8 |77.2 1500P
25 | ER 48 | 44 | 92 (18.0 |74.0 BBt 75 |f8F =A| 49 | 45 | 94 [16.8 |77.2 BEE
26 kfE BX 37| 42| 79 | 4.8 |74.2 |AAMG-ZFE Y 7H |6000P 76 |EHH EE= 50 | 50 | 100 |22.8 |77.2 1500P
271 |HH EF— 53 | 44| 97 |22.8 |74.2 1500P 11 | AR g 51 | 49 1100 |22.8 |77.2 1500P
28 |#AL 1| 40 | 44 | 84 | 9.6 |74.4 |HRE 3000P-E 78 & BE 51 | 49 1100 |22.8 |77.2 1500P
29 |HuEE A 42 | 42 | 84 | 9.6 |74.4 1500P 9 | & 46 | 47 | 93 |15.6 |77.4 1500P
30 |#FE RO 42 | 48 | 90 |15.6 |74.4 E—IL 80 |FHE R 49 | 50 | 99 |21.6 |77.4 E—IL
31 BB Ex 47 | 43 | 90 |15.6 |74.4 1500P 81 |Bxk HRE 49 | 50 | 99 |21.6 |77.4 1500P
32 |EER Bsh 43 | 40 | 83 | 8.4 |74.6 1500P 82 | Kk *— 50 | 49 | 99 |21.6 |77.4 1500P
33 |&H BhFN 46 | 49 | 95 120.4 |74.6 1500P 83 |RHF WE 53 | 46 | 99 |21.6 |77.4 1500P
4 |BH MHE=x 47 | 48 | 95 120.4 |74.6 1500P 84 |= & 51 | 54 | 105 |27.6 |77.4 1500P
35 | kK BHR—ER 49 | 46 | 95 |20.4 |74.6 W 85 |%x F—5 54 | 51 | 105 |27.6 |77.4 BEE
36 |Fx F=— 50 | 51 | 101 |26.4 |74.6 1500P 86 |HEARK ®HA 48 | 50 | 98 |20.4 |77.6 1500P
37 |#H =& 53 | 48 | 101 |26.4 |74.6 1500P 87 |l & 50 | 48 | 98 |20.4 |77.6 1500P
38 O # 45 | 43 | 88 |13.2 |74.8 1500P 88 |HH FE 42 | 43 | 8 | 7.2 |77.8 1500P
39 |y EHF 46 | 48 | 94 |19.2 |74.8 1500P 89 |XKJII F1= 44 | 47 | 91 |13.2 |77.8 1500P
40 |#A BRE 42 | 45 | 87 |12.0 |75.0 E—IL 9 HO =8 46 | 45 | 91 |13.2 |77.8 E—IL
4 Ie g 43 | 44 | 87 |12.0 |75.0 1500P 91 |HE #EA 47 | 44 | 91 |13.2 |77.8 |ZFEV17H 2000P
42 ‘st EAR 44 | 49 | 93 [18.0 |75.0 1500P 92 | KAR #EH 50 | 47 | 97 |19.2 |77.8 1500P
43 ¥k BEF 48 | 44 | 92 |16.8 |75.2 1500P 93 |iIg FB 46 | 50 | 96 |18.0 |78.0 1500P
4 \lLzlW # 48 | 43 | 91 |15.6 |75.4 1500P 94 |EIR {2 45 | 49 | 94 |15.6 |78.4 |=TFt'V7H 2000P
45 |Rk FZ 45 | 52 | 97 |21.6 |75.4 W 9 |fEA =M 47 | 40 | 87 | 8.4 |78.6 R
46 |ILAX BR# 45 | 39 | 84 | 8.4 |75.6 1500P 9% |FHE ER 47 | 46 | 93 |14.4 |78.6 1500P
47 | £E #E 42 | 48 | 90 |14.4 |75.6 1500P 97 |=Z=m BE 48 | 50 | 98 [19.2 |78.8 1500P
48 |BEBER FH 49 | 47| 96 |20.4 |75.6 1500P 98 |RA FR 52 | 52 | 104 |25.2 |78.8 1500P
49 |Ekx =8 50 | 46 | 96 |20.4 |75.6 1500P 99 | SEEA 53 | 51 | 104 |25.2 |78.8 1500P
50 |&# FIpE 50 | 52 | 102 |26.4 |75.6 E— 100 | B4 EER 54 | 56 | 110 |31.2 |78.8 E—JL
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